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8 BHM 68,402 | H IR AR X & 1,802 | #AiI T 8212/ ELUTh 39,543 EEIR BT 8,109 [L & 8,286
9 B[ 67,345 3R 1,768 fEET™ 8,188 FHPE ™ 39,422 Lz TH 8,094 {2 & 8,043
101 7H 66,974 fHF ™ 1,763 | B[ h 8,104 R R ABX & 39,333| L& 8,039 Frimm™ 8,035
priE ]
B4 B -yl ] E—IL E—IL A A& — A RAX— FaE - VAT LI-VARE
—————————— <& BD>- |~ & - |———<HE . mD>- | —————<E - |—<HE M- < E BB | E mD>- | <& -
e SREIE] 45102 &EF 5422 | & F 6,147 &F 11,837 2H 22| =H 2489 | 2 F 1,540 £ [E 9,216
1 8J#HF™ 58,853 FAHT 9,223 | BX[EH 8,922 F&H&m 16,329 &% H 30 #LMRTH 4,666 LR 3,897 =H0TH 16,017
2 #Fri|amh 58,717 Fiam 8,394 | FxHETH 8,830 | B [E 15,131 | BT 27 L& 4359 {i&th 2,942 Friath 13,307
3 XM 56,963 1li& 8,072 #Fimm™ 8,672 ¥t 14,707 | 7iBH 27| 1lLFzTH 4314 5 H™ 2,789 &E&H ™ 12,935
4|\ lLsTH 55,143 | B [E T 7,955 €iRth 8,263 B ARRX &L 14,301 | [ & 26 BFH™ 4,168 Fiath 2,744 BEEAXRTH 12,859
5 RRARX &R 54,562 = LUt 7,358 | F0FILTH 8,100/ [L & 14,298 {8 &TH 26| %M ™H 3,591 #AT 2,712 | AR 12,199
6 AT 53,869 &R 7,272 FHETH 80798 & 14,290 IR H X &B 26| BRI AR X &R 3,466 | F%[ETH 2,365 B G 11,518
UG 53,054 t2 &t 7,227 il &ETH 7913 ELlUmH 14110/ F 26| B FFTH 3419 ELLTH 2,293 BEnTH 11,492
g8 u&ET™ 51,533 K& 7192 8B 7,726 ¥R tH 13,817 | #L1RH 25 #ETH 3,382 | B[ 2,175 KBt 11,407
9/fgEm™ 51,267 |lLUfizh 6,823 t&8FH ™ 7573 m&RTH 13,796 R &RTH 25 PR TH 3,376 /KT 2,168/ lLAT 11,375
10| #LIR 50,889 | &R TH 6,477 E¥ 7,537 #HET™H 13,023 fHETH 24 |\ B [ETh 3,335 #FET™H 21144EE™ 11,327




N
Ei!

FENLRDBAHEKR (FHSFE~FHMSFETY)

(% EHOGEILIAIZSVF T EINTLNSEM)

Pk ]
IE B E VATV Fa—NA-NITIL [Fa—nAAGTIL
N HEE:VMD- | <& B>- |——— <EE:mb-

Ity | 2E 26 £EF 4919 £H 14,129
1 &%0H 44 FF™ 7,219 #hi|dm™h 20,621
2 Fhimh 38| SLV=FTH 7,091 &SLV=FETH 20,566
3 REXT™ 36 Friath 7077 F#FH&H 20,342
4 BHFM 35| lUsTh 6,896 LUz TH 19,683
5 BX[E T 34 | JI|i&TH 6,823 )1 I&TH 19,006
6 BEH 32| Kixmh 6,556 = LU 18,035
1EH 32L& 6,334 | BT 17,528
8 =& 32| = 6,214 R mEBX &R 17,314
9/ lhAath 31| BERE T 6,106 =R 17,275

10 & 31| &Rt 5,991/ &R 17,239
e hEZE
. |FPEZ

gL | TS & %E>-

Ity | 2E 6,664
1WAz 14,741
2 $himmh 13,844
3 FEE™ 11,236
41L& 11,207
5t 9,556
6 |JIlEH 9,117
UG 9,113
8| #@ATH 9,112
9 FHM 9,007

10| BE[E Th 8,866
BHUSN
B4 BRK BRK TAanUAHR KT M KT i AV
—————————— <& BD- |-——<HE kWh>-  |——————<E K- | ——————<E B |—————<HE M- | ——————<FE -

e SREIE] 141,041 | 2EF 4818 £EFH 20,935 | £ E 14,784| & H 147 £H 423
1faHmh 203,583 t2Fth 7,961 1Lz 49,152 EHm 87231 H&H&m 899 ;FEth 616
2|'Zluh 193,712 E1UtH 7,490 | BE[E 40,375 #LiIRTH 74,427 | ¥R 729/ lLATH 614
3 MTTh 188,749| € ;Rh 7,299 ALUETH 39,166 FAEHT 57,198 #AH™ 584\ E LU 595
4| &RtH 184,223 ¥\ T h 6,447 &%0TH 38,248 | &[T 56,457 | B [E 572 Hi¥ET™ 584
5/ lUfEgH 182,283 | ILUfizTH 6,051 JKF T 38,176| Uz 41,947 | Uz 427 EW™ 582
6| BFHRM 172,089 fEETH 5,922 ¥ LU 37,382|t2 & 31,173/ & 306 FER =T 574
7t88m™ 168,586 | F % 5867 {k&E™H 37,086 R ¥ 29,976 ELUTH 294 | Lz ThH 572
=k 167,760/ LLAOTH 5,742 BT 35,883| E U™ 29,902 K¥m 284 #Fhimmh 569
9/ fEE™ 165,813/t &™H 5,659 {2 & 35,605 Friam™ 22,252 | 8T 221 BX [ th 567

10| B[ Th 162,656 | B & H 5557 &t 34,981 L& 20,824 L& 208 ;E¥ATH 563




RtAENCRABA - HERR (FM3E~THSFETF)

(% TFHIIGILAIZSVF T EINTLNSEM)

= 8
B4 AN BN\ BN\ hnEsa thnEsE 35 hOBEDOZ D
I HBE: g~ |———— <& B>- |——— HBE: g~ |———— <& B>- | HBE: g~ |———— <& B>- |—— BE: -
RS REE 43532 £H 10,374| £ F 19,776 £ = 5,733 £FH 8,421 £H 1,702| £ F 3,932
43 | BE [T 37,284 B fFrh 8,989 | B[ h 16,444 REKTh 5,120 S 7,756 ILOTH 1,329 EHTHh 3,586
44 AR ErTH 37,117|BE AT 8,808 t&8H 16,431 | EERATH 5038 f@E&m™ 7,548 B [Eh 1,324 | F0FrLTH 3,576
45 fLRH 36,904 2™ 8,755 H&m 16,198| RI&tH 4,965 #Fiam™ 7519 Ko th 1,319 &R tH 3,559
46 ‘= 5 TH 36,178 Lz 8577 B fFTH 16,029 | #0FrLLTH 4,940 BERET™H 1518486 1,304 5 &% 3,411
47 KHm 36,086 | BX @™ 8,565 Kyt 16,016 f8&TH 4917 f8FH 7,283 E & 1,254 ILFsTH 3,393
48 )KETH 36,015 F & 8526 'R E™ 15,972 &&%H 4807 {EE™ 7245 F#FH&H 1,248/ 8 ™H 3,365
49 BFHM 34,750 Ko 8513 f@BEm 15,894 | F I th 4,797 Bi&H 7,168 EEARTH 1,222 & 50t 3,334
50 #kATH 34,075 B & 8,304 | lLufzh 15,648 & &0th 4719 F5FH 7,126 BFHTH 1,193 #:8H 3,290
51 {88 33,099 EERBE™ 8,223 =&t 15410/{£ &t 4,702 E%0tH 6,213 FkET 1178|%8HH 2,874
52| lLfsTH 32,735 F*AEH™ 7918 #EATH 14,904 F AT 4,265 AT 6,132 S0 1,040/ FkEATH 2,713
ANE
—————————— <& BD- |————<HE: - | - ——HE: - |2 - e - | E - | <& -
Ity | 2E 993 £ H AMESE 824 £ [E 721 £F 1,131 2HF 498 £H 2.846| &= 3,015
43 BIE™H 605 RiItE T 455 [LET™ 637 R E;™H 551 | #L1% 605| LT 237 B [th 1,817 ¥ Ih 2,446
44| FE=H 596 JKE TH 401 )15 630 )KETH 530 #Friamh 570 #LiEtH 226 )KETH 1,815| =5 H 2,410
45 )KETH 575 F&R =T 397 Fimm 607 [LET 528|t&8F 568| ¥l 221 |E% ™ 1,782 | &= 2,391
46 EEmH 571 flhE™H 396 F ™ 592 fEE™ 526 KPP 567 EBfFTH 221 & 1,782 E¥h 2,377
47 L& 529 R¥mh 391 KFmM 587 |11 tH 513|RiT#ETH 512| & 218| FE =T 1,744 | B[ th 2,334
48 f2ETH 506 | BX [l Th 346 FH =™ 544 FERE TH 498 FH =™ 512 f8FH 214|848 1,700/ t2 & 2,218
49 LUz 490| Lz 323| B[l 532 Il E™ 475 BE[EH 497 & 199 BB fFh 1,641 f@3H 2,193
50 | B%[E 443 f2B™H 257 {8 E& 530/t2 & 472 | B 493 BRI 193| 5 &F% ™ 1,609 | AiItE™H 2,043
51 FRERH 259 BAREE™H 131|flE™H 510| B [E 437 (L& 488 FH =™ 190| R & 1,091|7KEH 1,971
52 #LEH 189 #L1R H 78 WUz 373 iz Th 372 &% h 488|KF ™ 161 #L1RH 1,076 | ARZRTH 1,683
AN
1B 2V BITOHEIRZ o B AEE M M OEHE-HIY &l M OEHE-HIYEI
———————— HE: oo |——————KE 8- |—————X<E - |—————<F - |——<¥E: -
e SREIE] 1,325 2HF 2289 &F 1,555 | € E 819 £F 193
43 B FFTH 1,090 #riEth 1,839 | f&fETH 1,158 At i h 645 | LLfizTH 140
44\ f8E™H 1,063/ I&z BT 1,707 | #0gRITH 1,150|t2 &7h 638 AEARTH 140
45 | FRE T 1,050\ SLV=FTH 1,701 @ LtH 1,140 FAETH 637 | #LIE 135
46 |BXRETH 1,021 & 1,676 El&FTH 1,138 | &R Th 627 K¥mh 128
47 E¥mH 1,021/ 7)KETH 1,675 | B @ H 1,127 #LigtH 593 | dt AL T 128
48 | f&FHH 1,002 H &% H 1,639 #ETH 1,114 BB 587 | B E 128
49 FE=E™ 984 | #L1E 1,624 LR 1,078 | #iath 576 EER ™ 128
50 BiI¥ET™H 922 | RE[E Th 1522 IR E™ 1,037| %R 569 #Fiam™ 121
51 )KEth 825 FHTH 1,490 BEARTH 1,010/ E U 563| = LU 120
52 ARERTH 790 AREETH 1,236 | FRERTH 612 55F%™ 487 | 5 &FHF™ 99
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SHEREMNCRDEA - HERR (FHSFE~TMEEFY)

(% TFHIIGILAIZSVF T EINTLNSEM)

R
B4 SE] A E8EA LSS LS EA BTN BLUER
e — <& - | <& - | <HE: - |- <& - | HE: - | <& - | BB - | <& 3>
Ity | 2E 97,296 £FH 78,766 £ E 51,170| £ H 22,338 2F 6,264 2[F 17,615/ 2EF 18,120| £ F 2,994
43 Fri|mmh 88,043 | #L1% 68,965 | 2% [# 46,583 ;E¥ATH 14,097 ;E#ATH 4555 |l B 15,677|F&=H 16,419 F&=H 1,834
44\ f8E™H 87918 ¥ 68,547 & 40th 46,351 FAHETH 14,047 | & =H 4536 FEE™H 15,627 F &t 16,309/ KA h 1,751
45 FETH 87,663 {2 68,485 E LU 46,093 &t 13,876|t2&Th 4510/ ZLUth 14,888 48 H 15,589 | #LiH 1,711
46 FE =™ 86,287 F&FET 68,022 B fFH 44895 KETH 13,638| #L1RH 4,508 BX[ETH 14,742 | B fFTH 15,505 {li& 1,653
47 B FFTH 84,946 B 67,202 FER = TH 44729 {2 BT 12,587\ )KETH 4,254 BBEFTH 14,726 = lUtH 15,326 | Uz TH 1,617
48 | B[ 83,671 ARZEmh 63,862 f@F 44371 #LIRTH 12,463 B fFTH 4,185 FRZEATH 14,550 | B%[EtH 15,310 Frimth 1,484
49 A’EATH 81,759 | B[ mh 63,396 fEETH 44313 R¥h 12,267 BERE™H 4159 KKETh 1446728 14,393 #HT™H 1,407
50 KETH 78,897 JKFEtH 61,956 KEm 42192 | BT 12,020\ R ¥77h 3803 f2Em™ 14432\ KA 14,346 | BEREH 1,333
51 EEmh 76,696 | K Ermh 58,893/ /KB T 41,853 | BX[@H 11,409 #Fria™h 3,797 HitET™ 13,057 REh 14,085 & ™H 1,277
52 RiItE™ 75,102 @i TH 57,677 | BB 40,567 | &riBath 11,293 RitB™H 3,187 BB 12,656 RItE™ 14073 8E&™ 1,171
Sk S TTEE
L [ L\U A,
Wt | 2T HE: -
Iy | £EF 2,247
43 KF™H 1,327
44/ ETH 1,287
45 FH =™ 1,263
46 #LIR™H 1,253
47 Fri|mmh 1,065
48| LUz TH 1,055
49 | BE [T 985
50| FkETH 975
51 F#H%h 901
52 f@Em™ 788
LR R LT 7
. ; E}l/ LlE
ke |~ <& B | <& 8B>-
e SREIE] 760 £[EF 11,205
43 | BX[ETH 541 )KETH 10,342
44| ILOTH 528 | = #ATH 10,262
45 FEBETH 500/ =BT 10,228
46 L& 499 | ALMETH 10,227
47 ElUTH 482 | & BT 10,167
48 | f&FHH 399| FER =T 9,886
49 RIET™H 398 | BX [ 9,729
50 Akt 373 ElUT 9,636
51 {88 363 BB 9,315
52 E¥mh 325| 5 H% ™ 8,696
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SHEAENCRDBAHERR (FHM3E~SHSETH)
(% TFHIIGILAIZSVF T EINTLNSEM)

=y 353 - - )
I (<0 LAR =DFEW Cohilr Cenrd f~FhE NACA
| HE: g>- | HE: g~ |——— HWE: g~ | <& B>~ |/ HME: g |——— HE: g~ | HE: -

Ity | 2E 8,319 2FH 6,058 & F 2,626 ©F 2,776 &F 8,470 £F 15,579| £ F 1,229
43 FFHF™ 7,382 #A1LTH 5,038/ [L & 2,383 BRZRTH 2497 fEE™ 7,481 | lUfzth 14,460 ¥ TH 849
44 | REARTH 7,252 [ WLt 5,008 | B%[#] T 2,370 & th 2,459 ;& 7472\ =5 tH 14,348 | B[ Hh 839
45 FETH 7,205 fEE ™ 5,003 SLV=FE T 2,351 | fEET™ 2,396 ST 7437 KFtH 14,266 {2&TH 830
46 FE =™ 7194 =551th 4,988 [ LLTH 2,297 BE¥m 2,375 @ LUT 7,305 {8 & 14,256 | 5 &% 790
47 RiIkE™ 6,993 #LIE T 4862 t2HH 2,190 F&Fm 2,350 JKFE 7,202 A& 14,107 | fLIR T 754
48 B fFT™H 6,895 | [ h 4,791 BRFth 2,164 IUz™H 2278 E¥ ™ 6,860 | B% @ 14106 E'RE™ 556
49 | BX [ 6,737 lLO™ 4,699 |3t AL 2,161 )KF 2,258 | BT 6,821 R¥fh 13411 |55 543
50 LUz 6,281 fEE™ 4639 ELUH 2,078 B 2,231 IUFeH 6,819 =1 13,107| EEth 492
51 f@HmH 6,080 {2 & 4412/ 1LAth 1,857 B[ H 2,222 S50 6,590 R 12,978 & %0th 479
52 FRERTH 5538 t&8FH 4,085 FRErth 1,808|;EH 2,199 & 6,315/ f&8F 12,845 F & 307

EY-BE. KEMIAF

. |MBDOBHFE-EEOOEE
g4z | o 2B
Ity | 2E 391

43| [LE™H 333

44 F3E™H 331

45 B[ Th 316

46 LN f-FTh 311

47 Fri|mmh 303

48 W& 276

49 |[E LT 272

50 #ALUH 271

51 F#H%h 271

52 BRETH 196

%% £

L |2
g |~ & 2E>-
Ity | 2E 1,784

43 BIRE™ 1,161

44 FFruth 1,096

45 | FRE T 1,087

46 |BXRETH 1,073

47 E¥mH 911

48 B fFmH 868

9\ [LETH 864

50 BRERTH 806

51 %L1 683

52 &M 680

10




RtAENCRABA - HERR (FM3E~THSFETF)

(% TFHIIGILAIZSVF T EINTLNSEM)

;HAE - Rk H
B | O V=2 Y—2 TFYvT EEESTSREEEFN - P T DA N
R e — <& #®- |- <& - | <HE.mb>-  |———- <HE: - |-———- <& |- |- <& #B>-
Ity | 2E 1,107 & EF 780 £EH 1,434| 2 F 1,681 2F 1518 &F 1,328
43 & %0h 960 | ]I 657 #Fhiam™ 1,186 |[ELLTH 1,508 & 1,399 A 1,035
A4 1| & 957 RitE™H 654| &R 1,141 | BX[@th 1,504 | & LLH 1,386 | BEREHh 1,034
45 FHERT™ 954 R¥rh 653 BT 1,133 &0 1,489 FEh 1,372 &5 1,003
46 | BX [T 953 KHrmh 639/ )14t 1,125 #AT™H 1,478 | BI¥E™ 1,371/ dE il h 998
47 Kirm 932| E & 633|{EE™ 1,122 &¥ATh 1,466 | R &R X &R 1,365 X h 985
48 Rt 932 BX[Eth 628 B[l th 1111 | KEH 1,455 BE[ETH 1,355 E R 927
49 #LWETH 930{EE ™ 626 FLiETH 1,102|t2&7h 1453/ =FTh 1,326 BEATH 920
50| BRI &R X &R 919/ &R 611 FkMAH 1,071 | Zi&H 1,442 P H 1,313 EiGH 864
51| FFHM 905 | #kETH 608 RErmh 1,013|[B™ 1,440 )11 vH 1,261 ERE™ 846
52| SLV=FETTH 875 EF;m™ 515/ & 698 #LiETH 1,421 3RERth 1,006 f@FH 829
E¥E
—————————— <& BD- |- & B- | <& B>
Ity | 2E 864 £[H 851 £ 2,298
43 | BXRETH 612 AEARTH 611 RiItE™TH 2,037
44\ )1|I&5TH 599 li&E ™ 606 JKE TH 2,014
45| h 572| L& 580 K& 2,011
46 | KE™H 559 #A LT 545 #hiam™h 1,990
47 & 546| ¥ ITH 515| 5 &M 1,963
48| R AN X &R 537 fRE&™ 468 | B[ th 1,943
49 EEmh 531 H5&™h 453 FOFLT™ 1,888
50 KFxm 513|lUAzTH 447 ¥ 1lUTH 1,778
51 #L1RH 464 | FX A 440 FXATH 1,764
52 &&m™ 313 | [ 387 MPET™ 1,713
:J'Jﬂﬁ.:‘i‘.jj .
o+ |ERTE/N
IERL (5= % FE>-
Ity | 2E 6,304
43 Rl 5,307
44|l B H 5,256
45 f&Fh 5,253
46 ;E™H 5,194
47 | BE[EH 5,127
48 | #L1RH 5,121
49 AR 4,635
50 EERET™ 4,391
51 AR 4,379
52 Ut 3,564

11
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(% TFHIIGILAIZSVF T EINTLNSEM)

ne
B NE —BNE BERK e hER B ININ—H— BAZK
e <& B>- |-—————- <& B>- |- <& B>- |- <& B>- |- <& B>- |- <& B>- |- <& B>- | <& EE>-

Ty | £H 148,906 £ [F 139,504 £ F 121,861 £FH 21,156 £ FH 4250 £F 10,162 | & [E 5711|2H 7,621
43 BT 127,528 | B & TH 112,303 | B & TH 101,080 | Hij¥&TH 17,453/l& 2,800|;&mH 6,817 ¥ 4,988 ERH 5,299
44/ 1O 126,844 1LOTH 112,070/ LA™ 98,657 | ¥:EmH 17,222\ Knth 2516 Zl&™H 6,697 B E I 4,634 F0Fr LT 5,042
45 =& ™H 123,602 EERTH 110,945 EERh 97,917 F0gxL™ 16,981 | RI&tH 2,489 | #1Fr LT 6,634 | F1FR LU 4574 RI&TH 4,956
46 FRERTH 118,451\ ARERTH 108,827 #Fr L 96,196 KE 16,446 T &% 2,287 AL LM 6,374 BERE™H 4571 | EE'RE™ 4,803
47 AT 118,424 |FATH 105,664| K& H 94,302 A EHT 15,785 #¥ALLTH 2,276 IR Fm™ 6,342 H & 4522 f2ETH 4,588
48 | BXRETH 116,963 RIGTH 105,489 | FRERTH 93,866 ARZEATH 14,946 | B%[ETH 2,133/ ¥\ T 6,153 | AL LM 4,397 | BE[E™H 4379
49 g 112,911| &R 105,470 # HETH 92,504 K& 14454 EEIRETH 2,048|FkATH 5,841 | E & 4222 E&TH 4,347
50 ¥ LU 109,615 #0Fx1LTH 104,916 | EERATH 91,945 F&HFm 14,359 #KETH 1,964 R 5,790 AL1ETH 4,152 #¥AILTH 3,971
51 F#0Frum 108,885 |#A 1L TH 100,264 |#21LTH 90,223 | ¥ LU 13,935 ARZE@TH 1,536 | BE[ETH 5571 f&8FHH 4057 FETH 3,845
52 B &M 96,369 T & 88,996 F & 79,320 | EE [ TH 11,332| B4 Th 1,396 | #2LLTH 3415 FhHETH 3,748 H&H™ 3,252
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